
Addition - Adding 1 Digit Number to a
 3 Digit Number - No Carrying 

Find the sum by adding the 1 digit number to the 3 digit number

450 + 5 =   455  

Example:

245 + 2 =         

532 + 7 =         

245 + 2 =         

532 + 7 =         

761 + 8 =         

126 + 3 =         

820 + 9 =         

911 + 7 =         

245 + 2 =         

532 + 7 =         

245 + 2 =         

532 + 7 =         

761 + 8 =         

126 + 3 =         

820 + 9 =         

911 + 7 =         

I never
doubted you! 
Keep up the

effort.  
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